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36. Oculist is
~ (A) One who possesses occult knowledge.

(B) A specialist in the treatment of ENT diseases.

(C) A specialist in the treatment of the diseases of the eye.

(D) One who makes optical instruments,

37. Improve the sentence by replacing the underlined phrase with the choice provided.

He was likely to win the elections by the sweeping majority.

(A) by a sweeping majority
(B) with sweeping a majority

(C) because of the sweeping majority CU

B

| . .
Identify the adverb from the underlined _ .

The bad habits grow unconsciously.
A @ (© D)

(D) with the sweeping majority

They have friendship among themselv
@A) ® © " (D) L

40. A person who is kind and helpful to thofe ho are poor.
(A) Philatelist (B) Philosopher
(C) Philanderer (D) Philanthropist

Select the word which is closest in meaning to ‘Filigree’.

(A) A court document (B) Ornamental work
(C) To fulfill (D) She-horse
Space For Rough Work S —
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@ Choose the right meaning of the underlined phrase.

The principal succeeded in establishing discipline in the college by handling indiscipline

with a high hand.

(A) take punishment measures (B) take simple measures

(C) take strictest measures (D) take easy measures

43. Choose the right meaning of the underlined phrase.

Despite so much villainy and sins in the modern world, there is the purifying influence by

the salt of the earth. _

(A) good persons of the world U) (B) punished persons of the world

(C) evil persons of the world m ' (D) bad persons of the world
44, Identify the Noun clause in the sﬁ.

She E;_l)d me that she would(l%n&m IfI gave ?e; the book, of her( interest.

. (C D)
) .

45. She shouldn’t have said anything. U) ‘

(A) Can she ? ®) shoud@d?  (C) Shouldn’tshe? (D) Shall she ?

e

46. Let us start now. O

(A) Could we ? (B) Shallwg ? (C) Should we ? (D) Would we ?
47. Diphthong means

(A) Two Consonants (B) Greek word for depth

(C) Greek word for tongues (D) Two Vowels
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48.

.1

52.

3.

Replace the underlined words to intensity the meaning :

My father is suffering from diabetes for the past three years.
(A) had suffered (B) will suffer

(C) has been suffering (D) was suffering

Replace the proper prepositional phrase :
Call in this evening, if you can, I have something to discuss.
(A) Call off (B) Call on (C) Call at (D) Call for

I have begun to drink coffee.
(A) weak (B) strong_ (£) thick (D) powerful

(A) live with discomfort live in peace
(©) live naturally ' -E live in disturbance i

Choose the i ght meaning of the phrasal verb% together’.

Choose the right meaning of the phrasal verb mne adrift’.
(A) make one dis-relient : A\ make one irrelevant

(C) make one dependent make one self-dependent

Choose the grammatically correct sentence, b
(A) I saw a lady sitting on, a stool with three

(B) Sitting on a stool, I saw a lady with thref 1fgs.
(C) With three legs, sitting on a, I saw a lady.

(D) I saw a lady with three legs sitting on a stool,

The classification of Vowels and Consonants in English is based on

(A) sound (B) grammar (C) alphabets (D) letters

D2
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56.

57.

59.

@

61.

63.

64.

The Committee agreed to the proposal.

(A) were (B) had (C) was (D) have
Synonym of Vicious

(A) Kind (B) Diabolical (C) Nice (D) Vision
Choose the correct word.

(A) Philatelist (B) Philatalist (C) Pholatalist (D) Philotelist
One who is skilled in making maps and charts is ;

(A) Mapper (B) Chart maker (C) Atlaser (D) Cartographer

Choose one of the words given im alternatives which has a wrong suffix.
(A) Handicraft (B) Rips (C) Zigsaw ' (D) Seesaw

Choose the right prefix of the M("jbable.
(A) un- (B) nonad

Parents as well as Krishna ___ = wpresent in a meeting, -

(€) im- - (D) in-

(A) is (B) am U) (C) does (D) were
Rajan and Prajwal are intimate frw‘ The is wiser than the former.

(A) latter (B) lateslo (C) last (D) later

Neither my father nor my mothu— educated,
(A) were (B) are being (C) is (D) are

The Arabian Nights * translated to many languages.

(A) are (B) were (C) was (D) is

202308KEC1
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65.

66.

67.

70.

Choose the correct sentence,

(A) Murthy sent he mother to hospital.
(B) Murthy sent an mother to hospital. ‘
(©) Murthy sent a mother to hospital.
(D) Murthy sent his mother to hospital.

Identify the verb from the underlined words
Indians acknowledged that Sarojini Naidu was the nightingale of India.

@ @ | © (D)
Identify the right sentence with proper ent of words.
(A) They go by bus to the music concert y month,
(B) They to the music concert go every Mol by bus.
(C) Every month they go to the music by bus.

(D) Every month they to the music conﬁ by bus.

Choose the right sentence with proper nt of words.
(A) T used to play tennis everyday for an Wewror so during my childhood. v

(B) Iused to play tennis during my chil everyday for an hour or so.
(C) I'used to play tennis for an hour or s@yday during my childhood.~
(D) I used to play tennis everyday duringdmychildhood for an hour or so.

o,

My father was honest man. I I

D2

(A) the (B) an (C) No article (D) a
Choose the correct sentence.
(A) The sun rises in the east. (B) The sun rise in the east.
(C) A sunrises in the east. (D) Sun rises in the east.
Space For Rough Work T
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71. Which among the following is a Search Engine ?
(A) Flash (B) Google
(C) Firefox (D) Internet Explorer

72.  Which of the following is not a PowerPoint transition effect ?
(A) Push ' (B) Shake
(C) Wipe (D) Fade

73.  Which of the following is not a PowerPoint slide size ?
(A) Wide screen (16:9) (B) Square (1:1)
(C) Portrait (9:16) - (D) Standard (4:3)

dS

74. What is the_ maximum size of a doeu.xallowed as an attachment in the Gmail ?
(A) 15MB (B) 25 MB
(C) S0KB (D) 25 KB

Ight

Foresig

75. USB stands for
(B) Universal Sequential Bit

(D) Universal Serial Bus

(A) Uniform Serial Bus.
(C) Universal Serial Byte

76. In an Email system, BCC stands for
(A) Blind Carbon Copy (B) Basic Carbon Copy
(C) Batch Carbon Copy (D) Black Carbon Copy

77. Which of the following domains is used by profit business ?

(A) .net (B) .edu (C) .org (D) .com
Space For Rough Work
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71. ARV, IR Res'r 022 9

(A) Ry (B) nenes (©) Forgor (D) eoZsore dpegs
72.  SUNSINEQ, cAnYcd WO w08 LRI’ Ff 5 7

(A) I (B) Sew (C) (D) Few*
73.  SUNIINYY, cCIRYRd WRTF Toowoes* R B8 m3se 9

(A) QZo0 TIE(16:9) _ (B) % _go*(1:1)

(C) perrrges (9:16) o) stmeis 43)
74.  Gmail 39 onisan vROTERO msd:nMoqd w3 R 9

' e o '

(A) 15 MB (B) 25 MB -C(C) 50 KB (D) 25 KB

75. USB 2053 D.)
n EE—
(A) CRRITRRTF ReBDODF LT (/)B) comaszre segpober vir
(C) chrRsir e aedoser ter (Do) sxsnvsszres nevemer e
-

76. 2,083 Email S,@Fob , BCC oud O TN

(A) ¥ 00 BowFa* & , LI-(B)' ers’ mrrat

(C) s oL’ o (D) tR,5° Bowrs* wo
71, 89NG odnm dem)R vy Coud B,3m0000% weRerb3s 2
_ (A) .net (B) .edu (C) .org (D) .com
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. . on
78. What happens if you select first and second slide and then click on new slide button

toolbar in PowerPoint ?
(A) A new slide is inserted as third slide in presentation.
(B) A new slide is inserted as second slide in presentation.
(C) None of these
(D) A new slide is inserted as first slide in presentation.
79. What are the three options available Insert >> Picture Menu in PowerPoint ?
(A) Clipart, From file, Shapes
(B) Clipart, From files, Autoshapes U)
(C) Clipart, Pictures, Autoshapes
(D) Clipart, Pictures, Shapes
'H )
80. The difference between slide design agontem wizard in PowerPoint
(A) Auto content wizard is just the wi

ersion of slide design.

(B) Slide design does not provide sanmiontent but auto content wizard provides sample

content too. ' m

(C) Slide design asks your choice in B but auto content wizard does not let you make
choices. |

(D) Both are same. I I

81. Which of the following is not a part of slide design in PowerPoint ?
(A) Color Scheme

(C) Slide Layout

(B) Animation Scheme

(D) Design Template

Space For Rough Work
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78.

79.

80.

Q) FTL ) STBEFod g,d:sag Eod) SRE T30 LR wOI Breed TTTTOOWOLFFD
TR B LT 63, 5 TRRES STNIZE 7

(A) Ba% 3} &, Secde §, & oh ZRo3mnss.
(B) Bn% %, &, a0dst 3, 5 4N IR$Toroas.
(C) 2YY, ctnIcio ve

(D) B3 3, ", 3000 3B ¥N gRhemorss.

TI0* THOWOLFRE, O3, 0T T esod’%ﬂ%b Insert >> Picture Menu ?
(A) 3feseste, %oj})ocs, Be'’ w (B) §efesese, FOrAoz, esti:aea?em;

(©) tx'sesr, agar, wHinedes’ (D) g, agx’ , Be*

-+
TIO* TOWOETI B & TR TR e@ow‘ DR SRR T KaFesd ?

(A) estdne BoL3otst QTINEF, T3 &’d@d QUG ST SNG,
(B) 3,7 “m,3Y =nwd aaowma vmo@ae: ST etdne BotdoEF ATMEF TRTO
aa:foi:ﬁa'b D ucdh»xéd q)

(C) R DR A oo Fodnvuerodss sud etine Sorors ARG solnivRy
SRBED JTn SE3 &eabajaq_, O

(D) <0@E® wodke. LI_

BINITIIY, AR TI0* TOWO'IY, B BT RN, 9

(A) Bo0° R (B) SRDFF At (C) A @ eBer (D) B Hosis

D2
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82. The number of bits a computer can process at once is called a
(A) Byte (B) Nibble
(C) Bit sequence (D) Word

83. The logic gate that provides high output for same inputs is :
(A) X-NOR (B) AND
(C) XOR (D) NOT Gate

84.  Resolution of Laser Printer is specified in terms of
(A) LPM (B) CPM
(C) PPM (D) DPI

dS

85. Negative numbers are represented in &Mlcrs by
(A) 2’s complement (B) Sign and Magnitude

(C) ASCII (D) 1’s complement

ght

. . .
86. Microprocessors were introduced in w eneration of computers ?

(B) Third generation
(D) First generation

(A) Second generation
(C) Fourth generation

resi

~ 87. Program counter in a computer is a specT¥purpose register that contains

Fo

(A) Address of the next instruction cuted.

(B) Address of the first instruction of the program being executed.
(C) Random Address.

(D) Address of the instruction being executed.

Space For Rough Work
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82.

83.

84.

85.

86.

87.

Wi BeodbreeswE g BOTR, LTS Wiy R083, 01, 20T Q0T BRI,

(A) e ®) oy
©) ww‘heﬁﬂ D) S

eare QRTHEIT T I8 Brrge CR), LTINS eorls* riees
(A) X-NOR (B) AND

(€) XOR (D) NOT Gate

Jexo* Q0L0'I BROR, B &) oI QOTNFY AOFZTRZONT ?

(A) LPM (B) CPM
(C) PPM , (D) DPI

MOFFE Xoad v, o, Lo W TSI 2

(A) 2 oHposnT wied (B) W T2 Fxweo
»

(C) ASCII _C (D) 1 8 Ieosdes

O)

Eee FpRRoTITRY ol aewriod Boah BETVE, BOwEolReR 9

(A) ooEse 2eer a)(B) RR0[e 2eRrt
©) e aeort g (D) saciosen

BT, BORYS Fperpa® H0LITF 2,000 aiegc;eﬁd OZIT* SN , B LIRROBTIHT 9

3

(A) BROVFRRREeTIE 00O IR

(B) mobrrizraenens soodrgmn ene Reudod v

© odnc{)w‘p QX
(D) BobFrzRReRons Jrudod SvoR

D2
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88.

89,

90.

91.

92.

93.

9.

' e ) [ function is
To return the remainder after a number is divided by a divisor in Excel ___—

used,

(A) FACT() (B) MOD()

(C) DIV() (D) ROUND()

Which of the following is an absolute cell reference in MS Excel ?

(A) SAS1 B) #a#l €) Al (D) 1Al

In MS Word, superscfipt, subscript, strikethrough are known as

(A) Font effects ' w (B) Word Art

(C) Default text m (D) Font styles

Which function in Excel tells how mamMn‘c entries are there ?

(A) COUNT ‘ = (B) SUM

(C) CHKCNT -C (D) NUM

In the formula, which symbol speciﬁes.t d columns or rows ?

(A) = (B) % GJ ©); D) 8

h

How can you update the values of formu s if auto calculate mode of Exce] is disabled ?
(A) F10 (B) F9 I I (C) F11 (D) F8
Multiple calculations can be made in a single formula using
(A) Complex Formulas (B) Array Formula
(C) Smart Formula (D) Standard Formulas

Space For Rough Work e —————
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88. .0 R0, O MBI, tREBOOT LRME o3 BT, 2003TOHNFLD oz’ o),
WSROI,

(A) FACT() (B) MOD( ) (C) DIV() (D) ROUND()

89, FINIJInvQ, cInYmd wowxt a%v:ﬁe?ﬂ Roggpeor Be* eveleadsonts ?

(A) §AS1 : B) #a#1 ©C) Al D) 'A!l
90. Q0T IFEI RRTORST, , RURTE , ¥ T5e ned ROT) SPODNG.
(A) TooLs Torod (B) Swfr esuzte © Zbielo) e (D) pooes R oo

L. SFT'RQ, IR ToDFY D, Roag, ammﬁi 0T TesLIS 7 -

(A) COUNT (B) SUM C) CHKCNT (D) NUM
92 RRgEQ,0dna uE et ¥O/40 BusteS SR meoriva AOFERAZYD 7
(A) * (B) % " AC) > (D) $

N

93. aic‘ﬁ zu;obo du:%md (auto calculate) ai.gt aatabﬂm@wd.ae@ TORVFER Bedny
:’@v‘ nesy, Fert S0egORWITITD ? -

(A) F10 (B) F9 (C) F11 (D) F8

LL

94, vz SLpIADle) (multiple calculations) N, totde XAZTY, WYL IRFWBID.
(A) Bo0Ti* RRINYE), (B) &8 Ragnvay

(C) mirr RRINVI, (D) Fnrds Aagrivy

e
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95.

96.

97.

In MS Word the key F12 opens a
(A) Close dialog box (B) Open dialog box
(C) Save dialog box (D) Save as dialog box

A website address is a unique name that identifies a specific on the web.
(A) Website (B) Link
(C) Web Page (D) Web Browser

In MS Word, Ctrl + R shortcut key is used to
(A) Reprint the last printed page w
(B) Right align the selected paragraph

(C) Reapply the last paragraph formattlm

(D) Reopen the last closed document:

i
98. Which of the following is not available Word font spacing ?
(A) Normal (B) Condensed
i —
(C) Expanded U) (D) Loosely
99. Shortcut key in MS Word to “insert a hgperlink” in a document
(A) Ctrl +K O (B) Ctrl + L
(©) Ctrl+X I I (D) Ctrl+H
100. Which enables us to send the same letter to different persons in MS Word 9
(A) Template . (B) Macros
(C) Form letters (D) Mail merge
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95.

96.

97.

98.

99.

100.

D0’ BEFHYF12 $e DY FTIT ?
(A) Close Boz03 313 (B) Open Room L3

(C) Save Xomor L3t (D) Save as oo Jt[¥

SO VR STROPOFE, 8 oS 25, IRoNT.

(A) S (B) Ooz (C) o Jezs* (D) Su* yPRo*

0% FEFRQ, Ctrl + R ToLrges’ ¢ o), 2, wIordgs ?
(A) dndod B0 Prsa P magzm

(B) o) SRAG &, 0ompTiE wog ting

(C) Brdod ), Torpe* TosoF LIoTTR), it CI0TLD

(D) gndodmmon Sous mﬁaﬁa&:ow‘mﬂq;iww

- —
BINIYNID, IR 0T TEF apaoumvaq, SIMRAUR

(A) =R, (B) 00,3 (D' (C) ZoRDE (D) Xao8
, =

DT [EF BB, R0LFTE, BTO* OoTR) ALONLD Toksfs E3 8¢ 7

(A) Ctrl +K (B) Ctrl +L (C) Ctrl +X (D) Ctrl +H

DONT® BT I, 2.0T3e TZBI), BT 13T T, 3N FDLILL BT IR 930 R BRBZE ?

(A) edozjees (B) SnBpex* (C) ar Suxse (D) e 0es'F
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